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Classe de 5°

Exercice 1

Calculer les expressions suivantes en détaillant les calculs.
A=11x(7T+2)

B=10+11x5
C=10x(12-7)

E=10+5%x9—(6+9)+4

Exercice 2

Calculer les expressions suivantes en détaillant les calculs.

A=8x2-10 D=7+11x(44+6)+2-2
B=4x5+10 F=24+12x8—-9=+-3+7

C=3x(5+38) F=34+4+8x12+12-11
Exercice 3

Calculer les expressions suivantes en détaillant les calculs.

A=13+11x10
B=8x (13+6)
C=1245-5

D=11+114+4-3+6x2
E=74+74+11-10+10x5
F=10+-54+9+5-2x7

Exercice 4

Calculer les expressions suivantes en détaillant les calculs.

A=T7+10+2 D=10+2x(114+6)—9+9
B=6x7+3 F=6+-6+11%x4+12—-6
C=7+7-3 F=2+13+7—-13x2+13
Exercice 5

Calculer les expressions suivantes en détaillant les calculs.

A=10-2+3 D=9x(2+10)+2—11+4
B=12—-(9+2) E=1144+45+(8-3) x5
C=7+11x2 F=8x12+10+5—(5+4)
Exercice 6

Calculer les expressions suivantes en détaillant les calculs.
A=11x (10 — )
B=12+13x2

C=13x(11-4)

D=9+12-12x6= (5+4)
E=8+44x11-2+2+2
F=942x246=(3—2)
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D=9—-3+10+10 x (12 +4)

F=4x(13-11) =8+ 9+ 12

G=3x12-2+9+6=3
H=72-22+42+37x272
I=29-15+62x(59+1,9)

G=2x(44+4)+10—-10=10
H=77-45+22x18+59
I=25x92+22+22+37

G=12x10+-3+6+10-5
H=41+72+48x (7-3,9)
I=6,1x(8+27)—(57+8,9)

G=3x13—(74+5)+9+9
H=29+72+12x(8946,9)
I=85x76+23—(1,3+5,1)

G=7-44+5+5+10x3
H=5+34+7x33-19
I=T72+5+92x5—87

G=9x11+412=(11-5)+12
H=36x(89+35)+77—4,1
I=93+64—-1,6x(2,842,8)
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